Regents Exam Questions G.GPE.A.1: Equations of Circles 2a
Page 4
www.jmap.org




Name: __________________________________



1
Kevin’s work for deriving the equation of a circle is shown below.

[image: image1.png]v ax

(3 - 20)




STEP 1
[image: image2.png]



STEP 2
[image: image3.png]X dxed=—y'+20-4




STEP 3
[image: image4.png](x+2)°




STEP 4
[image: image5.png](x+ 2+ ) = 16




In which step did he make an error in his work?

	1)
	Step 1

	2)
	Step 2

	3)
	Step 3

	4)
	Step 4



2
The equation [image: image6.png]eyt

Ix+fy+3



 is equivalent to

	1)
	[image: image7.png]-1+ (3 =





	2)
	[image: image8.png]-1+ (3 =7





	3)
	[image: image9.png]x+ D+ (e =7





	4)
	[image: image10.png]+ D+ D =10







3
The equation [image: image11.png]4x% - 24x+ 4% + T2y = 76



 is equivalent to

	1)
	[image: image12.png]Ax- 30 + 4+ 9P =76





	2)
	[image: image13.png]dx- 3% +4p+ 9% = 121





	3)
	[image: image14.png]4(x- 3% + 4+ 9 = 166





	4)
	[image: image15.png]4x- 3% + 40+ 9% = 436







4
What are the coordinates of the center of a circle whose equation is [image: image16.png]16x+ 6y +53




?

	1)
	[image: image17.png]




	2)
	[image: image18.png]




	3)
	[image: image19.png]




	4)
	[image: image20.png]






5
The equation of a circle is [image: image21.png]


.  What are the coordinates of the center and the length of the radius of the circle?

	1)
	center [image: image22.png]


 and radius 4

	2)
	center [image: image23.png]


 and radius 4

	3)
	center [image: image24.png]


 and radius 16

	4)
	center [image: image25.png]


 and radius 16



6
What are the center and radius of the circle whose equation is [image: image26.png]x4yt rdx=5



?

	1)
	[image: image27.png]


 and 1

	2)
	[image: image28.png]


 and 1

	3)
	[image: image29.png]


 and 3

	4)
	[image: image30.png]


 and 3



7
The equation of a circle is [image: image31.png]


.  What are the coordinates of the center and the length of the radius of the circle?

	1)
	center [image: image32.png]


 and radius 4

	2)
	center [image: image33.png]


 and radius 4

	3)
	center [image: image34.png]


 and radius 16

	4)
	center [image: image35.png]


 and radius 16



8
The equation of a circle is [image: image36.png]x4yt 4 12x=-27



.  What are the coordinates of the center and the length of the radius of the circle?

	1)
	center [image: image37.png]


 and radius 3

	2)
	center [image: image38.png]


 and radius 9

	3)
	center [image: image39.png]


 and radius 3

	4)
	center [image: image40.png]


 and radius 9



9
What are the coordinates of the center and the length of the radius of the circle whose equation is [image: image41.png]


?

	1)
	center [image: image42.png]


 and radius 7.5

	2)
	center [image: image43.png]


 and radius 7.5

	3)
	center [image: image44.png]


 and radius 4.5

	4)
	center [image: image45.png]


 and radius 4.5



10
The equation of a circle is [image: image46.png]eyt

fiy+1

0



.  What are the coordinates of the center and the length of the radius of this circle?

	1)
	center [image: image47.png]


 and radius [image: image48.png]




	2)
	center [image: image49.png]


 and radius [image: image50.png]




	3)
	center [image: image51.png]


 and radius [image: image52.png]




	4)
	center [image: image53.png]


 and radius [image: image54.png]






11
The equation of a circle is [image: image55.png]x4 8xe )

12y = 144



.  What are the coordinates of the center and the length of the radius of the circle?

	1)
	center [image: image56.png]


 and radius 12

	2)
	center [image: image57.png]


 and radius 12

	3)
	center [image: image58.png]


 and radius 14

	4)
	center [image: image59.png]


 and radius 14



12
What are the coordinates of the center and length of the radius of the circle whose equation is [image: image60.png]Xy bxey

23



?

	1)
	[image: image61.png]


 and 36

	2)
	[image: image62.png]


 and 6

	3)
	[image: image63.png]


 and 36

	4)
	[image: image64.png]


 and 6



13
What are the coordinates of the center and the length of the radius of the circle represented by the equation [image: image65.png]eyt

4x+8y+11=10



?

	1)
	center [image: image66.png]


 and radius 3

	2)
	center [image: image67.png]


 and radius 3

	3)
	center [image: image68.png]


 and radius 9

	4)
	center [image: image69.png]


 and radius 9



14
An equation of circle M is [image: image70.png]eyt fx-y+ 1



.  What are the coordinates of the center and the length of the radius of circle M?

	1)
	center [image: image71.png]


 and radius 9

	2)
	center [image: image72.png]


 and radius 3

	3)
	center [image: image73.png]


 and radius 9

	4)
	center [image: image74.png]


 and radius 3



15
The equation of a circle is [image: image75.png]


.  What are the coordinates of the center and the length of the radius of the circle?

	1)
	center [image: image76.png]


 and radius 4

	2)
	center [image: image77.png]


 and radius 4

	3)
	center [image: image78.png]


 and radius 16

	4)
	center [image: image79.png]


 and radius 16



16
What are the coordinates of the center and length of the radius of the circle whose equation is [image: image80.png]x4y 4 2x- 16y +49



?

	1)
	center [image: image81.png]


 and radius 4

	2)
	center [image: image82.png]


 and radius 4

	3)
	center [image: image83.png]


 and radius 16

	4)
	center [image: image84.png]


 and radius 16



17
What are the coordinates of the center and the length of the radius of the circle whose equation is [image: image85.png]


?

	1)
	center [image: image86.png]


 and radius 64

	2)
	center [image: image87.png]


 and radius 64

	3)
	center [image: image88.png]


 and radius 8

	4)
	center [image: image89.png]


 and radius 8
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If [image: image90.png]Xz yt

fiy-12=10



 is the equation of a circle, the length of the radius is

	1)
	25

	2)
	16

	3)
	5

	4)
	4
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An equation of circle O is [image: image91.png]


.  The statement that best describes circle O is the

	1)
	center is [image: image92.png]


 and is tangent to the x-axis

	2)
	center is [image: image93.png]


 and is tangent to the y-axis

	3)
	center is [image: image94.png]


 and is tangent to the x-axis

	4)
	center is [image: image95.png]


 and is tangent to the y-axis



20
Determine and state the coordinates of the center and the length of the radius of a circle whose equation is [image: image96.png]


.

21
Determine and state the coordinates of the center and the length of the radius of the circle whose equation is [image: image97.png]


.

22
Determine and state the coordinates of the center and the length of the radius of the circle represented by the equation [image: image98.png]x4 l6x+y  +12y-44=10



.


1
ANS:
2
REF:
061603geo

2
ANS:
2

[image: image99.png]—+y by
- 2x4 14yt H Gy 9=-34149
-1+ D=7




REF:
061016a2

3
ANS:
4

[image: image100.png]A(x* - 62+ 9) + 407 + 18y + 81
4(x- 30 + 40y +9)°

T6+ 36+ 324

36




REF:
061619aii

4
ANS:
3

[image: image101.png]K4yt - 16x+6y+53=0
X!~ 165+ 64+y" + 6y +9= 5346449
-8+ (y+3)* =20




REF:
011415a2

5
ANS:
2

[image: image102.png]X4y 4y 9=T49
Frly+Di=16




REF:
061514geo

6
ANS:
4

[image: image103.png]X4yt 4dx=5

Xt dxedeyt =544

(x+27+y =9




REF:
081626a2

7
ANS:
1

[image: image104.png]X' +y? - 12y+ 36 = -20+ 36
Frly-6i=16




REF:
061712geo

8
ANS:
3

[image: image105.png]X'+ 125+ 36+ y" = -27+ 36

(x+6)%+y*




REF:
082313geo

9
ANS:
1

[image: image106.png]x* +y? - 12y+ 36 = 2025+ 36
P rly-67=5625



  [image: image107.png]5625





REF:
082219geo

10
ANS:
1

[image: image108.png]X4y - by+ 9
Frly-Di=3




REF:
011718geo

11
ANS:
4

[image: image109.png]4 8x 16+ )0~ 12+ 36 = 144+ 16+ 36

x+d)?+ -6

96




REF:
061920geo

12
ANS:
4

[image: image110.png]X4 6x4 94y -4y +4=2349+4
G+ + -2 =36




REF:
011617geo

13
ANS:
1

[image: image111.png]X -dx+d+y 1By +16=-11+4+16

-2+ y+4)*





REF:
081616geo

14
ANS:
4

[image: image112.png]K abrey-2y=
6494yt —Zyal=—14941

G+ -1 =9





REF:
062309geo

15
ANS:
2

[image: image113.png]ey -brely=6
X =6+ 94y 4 2y 1= 64941
-+ + 1) =16




REF:
011812geo

16
ANS:
2

[image: image114.png]X424 14y - 16y +64=-49+ 1464
)P+ -8 =16




REF:
012314geo

17
ANS:
4

[image: image115.png]X -8x+yt+y=39
X}~ 8x+ 16+ )" + 6y+ 9= 39+ 1649

-4+ + 3

4




REF:
081906geo

18
ANS:
3

[image: image116.png]X dx+d+y - Gy+9=124449
x+2 +(y-3)* =25




REF:
081509geo

19
ANS:
4

[image: image117.png]X dx+d4+y - By+16=-16+4+16

(x+ 2P+ -4





REF:
081821geo

20
ANS:


[image: image118.png]X - 6x4 9+  +By+ 16= 5649416

-0+ +4)?

1



  [image: image119.png](3,-4),r=19




REF:
081731geo

21
ANS:


[image: image120.png]X 4 6x+ 94y -Gy +9=63+4949
G+ P+ -3 =81



  [image: image121.png](-3,3),r=9




REF:
062230geo

22
ANS:


[image: image122.png]X+ 16x+ 464+ + 12y + 36 = 44+ 64+ 36
(x+8)% + (y+6) = 144



  [image: image123.png]



REF:
012430geo


